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TASK:  Write a transition for sentence 3, 4, 5, and 10.  Remember that this is the first paragraph.  The second paragraph starts at sentence 10.  You might simply add a word or phrase or might rewrite the whole sentence.  

[1] Albright begins by presenting her audience with America’s accomplishments and continued work in this growing world. [2] She states the past, “the Belin Wall is now a memory”, then a hypothetical, “We could be satisfied with that,” and then America’s continued work, “creating a future” and building world peace. [3] ****This is a powerful way to allude to the idea that accomplishing is not enough, we must never stop trying to get better. [4] **** Her statements engender awe and pride in her audience for the progress of America wants. Albright wants her audience to understand that this continued effort is optional, we could be enjoying our technological advancements while ignoring the world. [5] ****She forces her audience to acknowledge the America is going above and beyond something hard to do but accomplishable. [6] Albright does not do this once. [7] She does it five times. [8] The Berlin Wall, nuclear weapons, Bosnia, a World economy, and last but not least Women’s right: She includes Women Rights last to reveal that this urge to push onwards is not confined to America but to also her audience, a class of women with the potential to bring about change. [9] With this series of contrast between hypothetical and reality, the audience, a class of women cannot help but nod their heads in understanding that this could them, spearheading the continued struggle for gender equality in a relentless manner. 
[10] ****Albright provides a series of personal anecdotes of what women across the world are doing. 

Transition for Sentence 3:

Transition for Sentence 4:

Transition for Sentence 5:

Transition for Sentence 10:
